
Correção do Trabalho sobre ESTABILIDADE
Em cada questão, valor 1 significa que a resposta está correta; 0=incorreta

Aluno Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10 Nota
Andrey Andreiko 1 1 0 1 1 0 1 1 1 1 80
Angelo G. P. Rocha 1 1 1 1 1 1 1 1 1 1 100
Bruno Z C. Sprengel 1 1 1 1 0 0 1 1 1 1 80
Carolina G. Kenicke 1 1 1 1 0 0 1 1 1 1 80
Diego S. Lazzarotto 1 1 1 1 1 1 1 1 1 1 100
Fernando F. P. Santos 1 1 1 1 0 0 1 1 1 1 80
Gabriel R. Gomes 1 1 1 1 1 1 1 1 1 1 100
Hevelyn C. Viana 1 1 0 1 1 0 1 1 1 1 80
Jhonas Barchechen 1 1 1 1 1 1 1 1 1 1 100
João V. P. Pozenato 1 1 1 1 0 0 1 1 1 1 80
Leandro P. Luz 1 1 1 1 0 0 1 1 1 1 80
Lucca G. Piovesan 1 1 1 1 1 1 1 1 1 1 100
Luiz R. T. Caetano 1 1 1 1 1 1 1 1 1 1 100
Mateus Gavlak 1 1 1 1 1 1 1 1 1 1 100
Matheus A. P. Lima 1 1 1 1 0 0 1 1 1 1 80
Natalia L. Gadens 1 1 1 1 0 0 1 1 1 1 80
Rodrigo S. T. Asofu 1 1 0 1 1 1 1 1 1 1 90
Rodrigo Y. Takano 1 1 1 1 0 0 1 1 1 1 80
Vinicius A. Chiconato 1 1 1 1 0 0 0 1 1 1 70
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